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ACRONYMS
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1. Market Needs

1.1. Introduction
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1.2. Techno Economical basis for considering SMRs
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1.3. Electricity Sector
1.3.1. A potential large market, in Europe and Worldwide
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1.4.1. Market Overview
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1.4.2. Market Potential for SMRs
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1.5. Hydrogen

1.5.1. Market overview
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1.5.2. Market Potential for SMRs
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1.6. District Heating
1.6.1. Market overview
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1.6.2. Market potential for SMRs
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1.7. Scenarios for SMR deployment

1.7.1. Market potential summary
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1.7.2. Three scenarios for SMRs deployment
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ltis considered that the SMRs dedicated to hydrogen production supply electricity to the grid during 25%
of the time to improve grid flexibility.
2 In GWe for electricity and hydrogen ; in GWth for industrial heat and district heat.
875, 250 and 500 SMRs with an average output of 200 MW for example.
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2. User requests

2.1. Introduction
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4 Areas isolated from the European grid would be exceptions. On the other hand, this is to be considered
for deployment outside Europe.
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2.3. Hydrogen and e-fuel production
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2.4. Heat production
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2.4.1. Low-temperature heat industries
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2.6. Answers from the members states and nuclear fora to the survey
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5 A survey has been prepared. See Appendix B.




3. Small Modular Reactors in a sustainable economy

3.1. Introduction
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3.3. Main findings from the analysis
3.3.1 Sustainability from an environmental point of view
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3.3.2 Pollution Control
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3.3.3 Waste management and recycling
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3.3.5 Sustainability from a social point of view
4 "= & =! 1C& 3 4 $
(% 9 = C$ 1% "3 ( '$ (
( $ ! & ' = 14 & &
41 I & "$ ! 1 4 # 1& ' C &C $4
= 0 $ 4 ('$ & ' @
! $ % A
( = 1 (! I $ $ $
@ =3% ( & '$4 (! 1 1
(= L1 ( $ C& # ! o= $ $ (
( $ '$ $ 3 "4 I
$ 1$ ! % Y3 ( ( 4" &
$ C&
3.3.6 Sustainability from an economic point of view
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3.4. Comparison with other non-nuclear energy sources
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3.5. Partial conclusions and recommendations
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4. Conclusions
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Appendix A — Detailed answers to the surveys
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Appendix B — survey to be addressed to the industry
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